INER 6 X JH Bxg 2 xF&H NO 1

( ) F ( ) # ( ) &

< i 2 ( )
1 WOAXT, xORTEAERDEL X 9, (10 A5 %<8 )
(1) x+20=35 (2) x—7.6=12.8
=3
(3) 15Xx=675 (4) xX12=96
(5) x+-12=30 (6) xX4X6=360
1 7 1 4
7 +== 8) —+x=-
(7) x s F ( )7 X =
2 WOLZET, x Ly DEFEEXICELEL X 9, (10 s X2 1)
(1) 300MOBEAIlLH (2) 1UHUDODEINx c mDOIEFE
THTdET, MrnxHb DELYDODEZIXy cmT
5oL, BIiZyAICRD 7,

ij—o




&K NO 2
( ) £ ( ) # ( ) &
Bl ( )

1

)
100 g 73 350 FHOFRZH Y £, (10 A5 X3 M)

(1) x gD & EDfEE%Z y
ELET, RZERLEL

5
X9,
5HT
led5sHTy (2) 2508 D & = DI
W B TT N,
(3) 4200 MSADFHNDOE
ST g T,
g
H
BFE6 O kmTEIENH Y F9, (10 A X3 [H)
(1) xWrECcEL A v km (2) 150kmE-TEXxDONn
LLET, RcELEL 7> T IR L AT IR R ]
50 éj\—tz\‘?—z))o
(3) 1.5 Kl L DR
BEITAT k m T2,
k m ] 45
PIFToRizEENIHHEZSIDVEL X 9, (20 X2 [H)

(1) B Xx=y

<l >
1AK5 gD ENxAKHoT-HFD
BROEILy g TI,

(2) 10+x=y

<A1 >
HfE 10c mDOEFEOMOE S % x ¢
mélL7ZEZTOMOESIZy cmTY,




INEIR 6 EHE g Hxas 2 xFEH 03

& ( ) & ( ) #8 ( ) B
4 A ( )

S0

1 K2 ExELTRICELELLEY, T2, BZ2%2KROEL 1 9,

(- FZ %10 5 X4/

(1) A=t 130HD/ —h2E->T, 44228 0HIEH

WE LT, Rty DB AT T A,
"
%%

=

(2) ObES5ATESLEDL, 1 ASADESNS.
HOEEDOE I m T D,
e

S5micZe L7, O

%z

=

(3) FEBMN 28 NEATNE LT, 6 N> T, HENBMADIRIZDOT,
43N0 E LT, HENBRIZDIT, AT D,

E2V
B2

(4) 2AVDZ14KRE-T6, R&EIT9I8O0MTLE, ATV 1 ADIH

BRI T4,
e
Bz
2 ThHEMFSOT, E=ZMAFEED £9, 100 3EOEGE. ZaIE 6 EfEVF T,
1R SEHOEE. A% 1 2MEEVET, T AN 9 6 HOFF, 1137
22 TLEY, ZBXIFBEXELEY, Bz &z %410 4)
O
O O O
o O O
O O O 3 o o
6 [ O O O O O
1 2 1# 9 6
<Ez >




